N = 0l & At & Ml A

20209 = 20l A LEHSIH L DIEIEE S H BHNF
2AN: BN
Ha: BASSHE 7S
CHRl: WS TA BHE X (2 &HH)
(o
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
oM =t 5,338,453 3,033,415 2,305,038
= 30,440
Jl 171,961
Al 182,668
- 4,953,384
HMSESHHMH 2= 645,740 603,647 42,093
HNETA BaiE &H#X 645,740 603,647 42,093
Hnw Stz )d 2 275,768 252,248 23,520
201 et 30,948 28,008 2,940
01 AP 2t 2] H| 26,672 24,852 1,820
OBMstsTZ )2 S82 H & 18,000
= 70,000 «50H x203| 7,000
- S 250,000& x203] 5,000
-S & ot X 150& *10, 0008 *23] 3,000
- E 3,000& x1,000 3,000
OZBMStSHEH SAD € ZH HOoIMEEH
g4 680,000 *23| 1,360
OBMSISTAl H7 ST M
22,000 *280& 6,160
OBMEISTAIRD 27 SAY|
8,000& x6H »24! 1,152
02 2%l 4,276 3,156 1,120
OZBMstSHE ZHOIA KA
356,260 x12& 4,276
203 R =X | 1,000 1,000 0
03 Al ZH =& 2 = X H| 1,000 1,000 0
OBMsts =& 1,000, 0008 1,000
301 et A= 158,820 133,240 25,580
12 J|IEtE2 A= 158,820 133,240 25,580
Oz0IteE Ystnas 29 40,320
-2 AHHI 70,000 #423| x84 &~ 23,520
-tstw A THEH| 50,000 x423| x84 2~ 16,800
OosuY otatdiol 24 2,500,000 =83 20,000
OZ22AI =S¥ & 70,000 103 700
OHE3IES T)dH 29 13,000
-2 AbH| 2,000,000& *404 2+ = 8,000
-2d| 5,000,000& 5,000
OJEES T2 29
2,000,000 404 2+ = 8,000
Oz HeY =2 2¢9
40,0003 x40 & ZH*20Al 2+ 32,000
O4AH AQEEAZ 29
60,000 x35JH A *43| 2 Xt 16,800




SN BMDSD
My HASSHN 7S
Cel BEHDSTAl HUC X (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OMs&EE AMEd A8 T2NME 29 20,000
-2 AbHI 50,000& x100H &~ *43| x8&E 16,000
- 2 | 50,0002« 1004 A +83| 4,000
OOt stdua 29 8,000
-2 AbHI 50,000 100 Al 2+ 5,000
- S HI 10,0003 *300H 3,000
307 2I2t0| & 35,000 35,000 0
05 QIZ2tE 2 35,000 35,000 0
OBMes 2+T208 SEX
2,000,000 9 T2 )& 18,000
OmMsE 2202 X
1,000,000& =171 =0t2l 17,000
308 MXISHMSOIA 50,000 50,000 0
10 2| 2S00 U sHE A X AEASH] 50,000 50,000 0
OBMSs 2+T208 2SN
2,000,000) %250 =2 ) 50,000
HMSSHE/AIARFZAY 8,000 8,000 0
201 et 6,000 6,000 0
02 B32%H| 4,000 4,000 0
ORIWYSSTAEAS o3l
4,000,000 13| 4,000
03 A2 HH| 2,000 2,000 0
OZMP=2AHX HX0Y £ /FA3ITS 2,000
-2 AbH| 500,000 x2H 1,000
-2 44| 500,000 *23| 1,000
301 et M= 2,000 2,000 0
09 HAIAHI X & 2 2,000 2,000 0
OZEMP=2AHX HX0Y & F3IS
10,0003 x200H 2,000
HEstS5HH 29 212,740 215,240 A2,500
201 et 9| 14,680 21,680 AT7,000
01 AR 2t2l ] 11,280 17,680 AN6,400
OZBMstsHEH 23| 100,000& »12& 1,200
odiEstsHdyH 29| 600,000 164 A 9,600
OsxXN==e4dye E=D0 Xt 40,000& ~12& 480
02 E2=2=2%H| 3,400 4,000 A 600
OXXZ2=8HH M2 250,000 x12& 3,000
OAXNZSEeHE HES A2
200,000 *23| 400
301 et A =2 186,560 178,560 8,000
12 JIEtE A= 186,560 178,560 8,000




SN BMDSD
M HMSESHM 25
CHRl: WS TA BHE X (e H)
5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
od=Es54HH 152,000
-2 AbHI 650,000 160 A~ x 10 104,000
-0 LI N & S| 12,000 40 100 Al 2+ 48,000
OZBMsStsHEH T 29
120,000 *8IH x123| *3= J| 34,560
308 XHXIGHH SO0l & 10,000 10,000 0
10 B 2SO USE AN EAISH 10,000 10,000 0
OB d=2st5HdEy T2d 29
10,000,000 =10 £ 10,000
405 XHAHFEIEHI 1,500 5,000 A 3,500
01 XAt 2 EF S| 1,500 5,000 A 3,500
OQEMSISHEH TEE ¢ 1,500, 000& =104 1,500
HdoI2lus 29 74,200 51,200 23,000
201 et 3,000 3,000 0
01 AP 2t 2] H| 3,000 3,000 0
OHdol26 AlstAE JH= 2,500,000& 2,500
Ost=2 WA Wb| 5,000 =100 500
301 dEtE M= 46,200 33,200 13,000
12 JIEtE A= 46,200 33,200 13,000
OstZ2una 89 46,200
- g8 2 AHH| 60,000& *803| x2J4 &~ 9,600
-=g8t ZAHH| 60,000& x1213] *5I4 & 36,300
-A3StS THZHI 300,000& 300
307 2iz2tol & 25,000 15,000 10,000
05 QIZ2tRE 2 25,000 15,000 10,000
O4dol2a AAHII2 K& 25,000
-T2 X2 4,000,000 *5J0 D& 20,000
-S43 N 5,000,000& 100 J| & 5,000
ZMetsetets 29 37,000 36,865 135
201 LBt | 36,300 36, 165 135
03 A2 HH| 36,300 36, 165 135
OY 7 HMstseres| 29,300
-SHAFZHH] & Xt 12,000,000 12,000
-HEEA A2 100, 000 x40 x2 8,000
-=0tel 29 100,000 14X 1,400
-HAIRY(EE)E EHI 7,340,000 7,340
-SHAS2 Y AR ZEH| 8,000 x35Y x23]| 560
ousgol=2mHMstgeers =20 7,000,000& 7,000
301 YU BHZ 700 700 0
09 HAIAHIXIE 2 700 700 0




2N BHISI
B BuSSHN 7
el BEDSTA SUCS B (29 a8)
DA HB B (EH) - MBAY - BAS o A o SSa H RS2
Om-MstEEetg Adl B4 350,000& x2 700
gRAUsHE) 24 38,032 40,094 N2,062
101 @121l 23,572 21,658 1,914
04 JI2ZtH 22 XNHEE =+ 23,572 21,658 1,914
OEMUNEA C124H| 23,572
-0l 24 d| 78,3203 x1Hx211 16,526
-R3Esdsd 78,320& 1Y 54 4,230
-=0HULEHEESZ2 20,754,800& *3.335% 693
-20HZ2EEHE=2 20,754,800 %4 .5% 934
-NEYEsRHE= 20,754,800& *1.5% 312
NMINEEREES 20,754 ,800& *1.05% 218
SOOI RUYBEEEZ 692, 180& *8.51% 59
-SXZLoE 300,000& =14 300
-HEAMN= 300,000& *14 300
201 LEt2 Y| 1,800 5,776 N 3,976
01 At 22l Yl 1,800 5,776 N 3,976
Og3IACIE () 29 1,800
-29H| 800,000& 800
-3 0 100, 000& *80H * 13| 800
-EE= 50& *x4,0000H 13 200
301 dEtE X = 12,660 12,660 0
12 JIEtE2 &2 12,660 12,660 0]
OAl2I Ty & 6,330
-2t AbHI 370,000& 93] 3,330
-S4t 1,000,000& 33| 3,000
OAloltysra 6,330
-2 AbH| 370,000& *93] 3,330
-S4t 1,000,000& *33] 3,000
N S8 ¢ 25 3,786,417 1,375,717 2,410,700
= 30,440
Jl 171,961
Al 182,668
- 3,401,348
nEggMA 25 3,230,596 845,344 2,385,252
IME=3=-=P\ 3% 11,000 11,000 0
201 Lt 2| 3,000 3,000 0
01 AP 22l Yl 3,000 3,000 0
OXZNE 2H238 ME S 3,000
-EE2EE 5,000& *300H4 1,500
-1 H 5,000& *300 1,500
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FABY

w
M ool 54 UL B5
ER- -

- - _ L3
HE .G (3H) - HEAY - B ﬁlf& 2t
Al 2,910
307 2iz2to| & 300 330 A 30
J| 210
Al 90
11T AISIEXAIEEX 300 330 A 30
Oae 2 Alddl 2tel 300,000& 300
J| 210
Al 90
AlotNA = X 96,800 94,700 2,100
J| 48,400
Al 24,200
- 24,200
307 giztol A 96,800 94,700 2,100
bl 48,400
Al 24,200
- 24,200
05 QIZtRES 96,800 94,700 2,100
OFadordaY x & 96,800,000 96,800
J| 48,400
Al 24,200
- 24,200
gdMa" 2d 162,000 141,512 20,488
Al 81,000
- 81,000
307 212t0| & 162,000 141,512 20,488
Al 81,000
- 81,000
05 QIZ2tRE 2 162,000 141,512 20,488
ORXgaEAS 162,000,000 162,000
Al 81,000
- 81,000
HAYE A2AX S 58,080 66,868 N8,788
= 29,040
Al 14,520
- 14,520
301 et A =2 58,080 66, 868 N8,788
= 29,040
Al 14,520
- 14,520
01 Al B & A 462 58,080 66,868 AN8,788
ONASE OI4HAH JIMBE X2
58,080,000 58,080
= 29,040
Al 14,520
- 14,520
HAaAEdSEA 29 XN 115,920 111,054 4,866
J| 57,960




AN BHLDFH
X KA
(=R B

ol B8 U B35
ool HAW B4 U 25 (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 28,980
- 28,980
307 2iz2to| A 115,920 111,054 4,866
J| 57,960
Al 28,980
- 28,980
05 QIZ2tE 2 115,920 111,054 4,866
OFadstEHL} 29 1 115,920,000 115,920
J| 57,960
Al 28,980
- 28,980
HAESBL} J|a822 X8 11,706 0 11,706
Al 5,853
5 5,853
307 QI2t0| ™ 11,706 0 11,706
Al 5,853
5 5,853
05 QIZtREZ 11,706 0 11,706
OFAESEIL EANEZ L AIEE=2 XA
11,706,000 11,706
Al 5,853
- 5,853
HE3 =& 782,779 938,996 AN 166,217
HESE S¢ dANEE & 782,779 938,996 N 166,217
NEAHLS & L FLEAX A 47,420 42,200 5,220
201 LBt 9| 8,800 8,800 0
01 AP 22| d| 8,800 8,800 0
O&dBsluE =& 8,800
-HAE835 WM 4,000 2,050 8,200
-HESlnNsds HESE 50,000& «12& 600
203 €2 F=&d| 1,000 1,000 0
03 AIZH =X A2 F XY 1,000 1,000 0
OXESER2 =4 1,000,000 1,000
301 LBt A= 36,120 32,400 3,720
12 JIEtE A2 36,120 32,400 3,720
OABHABHYH HAMADE
200,000 x 11 2~ x12& 2,400
OF0 HEsNE ZAE 60,000& %10 x523] 31,200
OXg B3N LA 70,000& 3 x123| 2,520
405 XH&HF S HI 1,500 0 1,500
01 XAt = ZEF S HI 1,500 0 1,500
OXFESnsE 2401013 S04
1,500, 000& =14 1,500




A BYu=s
Hu: MR XA
Sl PSS S8 HNFR T CERED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
J¥2ANLE 29 338,684 337,459 1,225
01 2BtEgHl 210,945 219,552 A8,607
01 At 22l bl 56,278 63,078 A 6,800
Odad 28ES 1,600
-HAA 2E ARE 50,000 x12& 600
-HATIE MHHOIZ 200,000 =5 1,000
OXEE8 UHESRIA A2F 1,200
-UTP 3ol = 100,000& =104 1,000
-4 4,000 =504 200
OYRE AZEQO(E2) 704
225,000 902 20,250
OdR8 AZEAAMSL2UIA) 0K
420,000& »75& 31,500
Od&XMel S2=4H 8,000 «6F 341 x12& 1,728
02 S3=29Hl 154,667 156,474 A 1,807
OUERNZR 3l MHEZ 20,532
XN A ME S 4%
350,000 43 &« 123 16,800
PR R eiR e 31,0008 12/ & x12& 372
-HE2StusE 280,000& 13| & »12& 3,360
OZHOIAl =0 sXH 1,888
-EHe(ge, B 2) 28,6003 *6 M 172
- g EA 66,0003 » 14 66
-2 &M AZE(EHOIX)
990,000& 12 990
-—2QEOIH MBS (MSAEXLUH)
330,000& 14 330
-0tOlE At22(ZH0IXI) 330,000& =14 330
OHE 2-UctAIAg |XE= 23,401
-=H LD 20 96,000,000 *7% 6,720
-AE X 1T 219,626,650 *7% 15,374
-Ola N eldl Sw 10,890,000 »12% 1,307
ObiAawy & AKX HY 2NE+
111,423, 1203 *7% 7,800
OEXNEEANALY RXEx 27,261
-F=EAD 1T 101,000,000 *7% 7,070
-AE X 1T 25,000,000& *7% 1,750
-OIOlEf IOl A 22 SW(DBMS)
85,600,000 *15% 12,840
-EXIHE SW(ArcGIS) 39,258,570 *8% 3,141
-EXHE SW(0z) 20,900,000& *10% 2,090
-EXHEE SW(GeoDT) 3,081,890& % 12% 370
OSHOoIAl =X 2= 19,523




2AN: BN
H: PG F&X
te: ME3E S8t INEE S (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
-AH 204 45,760,000 «7% 3,204
—HMaAESNHH 1O 3,850,000 *7% 270
-GIOIE Bl Ol A 22| SW(DBMS)
5,467,000 *15% 821
-EHO0IXl SWZZ0I0l&d ols)
126,900,000 *12% 15,228
OHEAZEH|(PC) SXE 492,243,000 5% 24,613
OUHE®RZAa KA 547 ,480,580& *5% 27,375
OFMNALHEY 2AIAE SIS
32,472,000 7% 2,274
207 A OH 4| 10,000 10,000 0]
02 & A Y| 10,000 10,000 0
OZEHOIX =JF et & Jls HA 10,000
-2200/H @EZWH S 10,000,000 10,000
308 MXISHMSOIA 117,739 107,907 9,832
10 B2 SHUSEAXNE A 117,739 107,907 9,832
OEZ= 2-LItAl A S/W SXES 20,077
-2 A 22l (M) 22,000,000 x13% 2,860
-2 A HI A 2 OH(WSS) 14,000,000 = 13% 1,820
NeldEEs £84 14,500,000 *x13% 1,885
- A Hl A SW(WEB) 3,652,000 *15% 548
- =2 AHlA SW(WAS) 14,348,000 *15% 2,153
-OIOIE{ IOl A2tel SW(DBMS)
72,067,000 x15% 10,811
OEZF 2-LictAl A2 29 X3 fEH
10,000, 000& 10,000
OXNLHEESEHEAALG ASHEH 22X
6,460,000 6,460
OANZFR Z2SD|Et Mol RAIAE 29 XA
1,709,000 1,709
OXNYHHIZEI|BAIAEY SANE S
79,493,000 79,493
THIES =& Y DB R H 277,300 473,300 A 196,000
405 XHAHF S HI 277,300 448,300 A 171,000
01 XAt 2 ZF S| 277,300 448,300 A 171,000
O pPC WH 1,300,000 x75CH 97,500
OQlHu &NHHIA JIaEE 2= 95,000,000 95,000
ORPAHMMAZX(UPS) M 35,000,000 x2CH 70,000
OodAEa Mol HESXZA U €d01&
14,800,000 = 1CH 14,800
HdE80 & JHolEEES 119,375 77,091 42,284
201 LBt 78,408 76,491 1,917
01 AP 22| d| 28,480 28,480 0




N =
=EE =3
e s =8 NS 2 CREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
OFEES SW 04 28,480
-2 FE 0l A BHAL SW 4 AI(PC)
28,000 9002 25,200
-ZFEI0I A A SN BA(RER M)
440,000& x2&2 880
-ZFEOI0I A A SN HA(2IsA AY)
700,000& x1&2 700
-ZFEI0I A A SN HA(RLYA )
1,700,000& 12 1,700
02 2524l 49,928 48,011 1,917
OgssdH SXNE=+ 126,403,200& *8% 10,113
OHALRANAEH SANE= 36,053,000 *8% 2,885
OMNABELEXNHAAE RIS+
19,315,000& *8% 1,546
OYstEHANAE RAE= 7,420
-HRLE 45,000,000 *8% 3,600
-2 HOoIXE 21,340,000 *8% 1,708
-gaste (e Y) 26,400,000 *8% 2,112
OstHE MEMHM ZclAAE SN2
38,500,000 *8% 3,080
OHIZMOUHALAE SXE= 14,012
-HE/K3AEZMA 137,000, 000& *8% 10,960
-BBEZHMOH (L) 28,800,000 *8% 2,304
“ANAEEZAA 9,350, 000& *8% 748
OMAHBHEINZAAEY SXB2
67,540,000 *8% 5,404
OPC oI EE 253 2268 RAES
27,720,000 *8% 2,218
OZREINY HEZe &2E RAES
21,560,000 *8% 1,725
OUPCXI 210l X &= 19,050, 200& *8% 1,525
ALENMZ 600 600 0
12 JIE24 3 600 600 0
OMNUEEES WE ZAZ 600,000& x13] 600
405 XtatE SHI 40,367 0 40,367
01 AL ESFH S 40,367 0 40,367
O LLRAAE W 40,367,000& = 1CH 40,367
L HI(HA4 W= 123,517 115,055 8,462
HI (MW= 47,857 37,255 10,602
2 (Bdn=s1) 47,857 37,255 10,602
jellala] 47,857 37,255 10,602
JIEHA & 2= 47,857 37,255 10,602
OBMUSA(AZEEHMAINM ct2) E= 47,857
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